
(1)

GBS

96919 (Krom, Chrome)

27 mm

3 mm

1

2

3

4

5

6

7

8

9

11

10

12

13

14

15

16

17
8

18

7

19

20

21

22

23

2

24

25

26

7

17

27

5

5

28

10 29

30

12

31

20

32

22

33

34

35
36

7

35
36

7

2

37

7

19

38

39

40



Art.No.Titel / TitleAnt/QtyPos.
 Blandarpip "Splash" / Mixer spout "Splash"11

98877 (1)O-ring 17,17x1,7832
 Utloppsplugg / Outlet plug13
 Gummipackning 30x21x2 / Rubber packing 30x21x214
 Gummipackning 38x28x2 / Rubber packing 38x28x235
 Fastsättningsmutter / Fastening nut16
 Packning G½" (R15) / Packing G½" (R15)67
 Anslutningsslang G½" (R15) M12x1 L=600 / Connection hose G½" (R15) M12x1 L=60018
 Omkastarhandtag / Diverter handle19
 Skruv M4x25 / Screw M4x25210
 Basring omkastare / Base ring diverter111
 O-ring 50x2212
 Fästmutter tätningssats / Cartridge fixing nut113

98971Omkastare / Diverter114
 Bas för omkastare / Base for diverter115
 Packning 14x10x2 / Gasket 14x10x2116

98972Duschslang G½" (R15) M12x1 L=200 / Shower hose G½" (R15) M12x1 L=200117
 Anslutningskoppling G½" (R15) M15x1 / Connection piece G½" (R15) M15x1118
 Anslutningsslang G½" (R15) L:300 / Connection hose G½" (R15) L:300119
 Fastsättningsbricka 80x48,5x2 / Fastening washer 80x48,5x2220
 Bas för fastsättningsskruv / Base for fastening screws121
 Skruv M5x15 / Screw M5x15422

98877Duschhandtag / Shower handle123
98877Anslutning duschhandtag / Connection shower handle124
98877Backventil Ø15 / Non return valve Ø15125

 Låsring för backventil / Locking ring for non return valve126
 Basring duschhandtag / Base for shower handle127
 Låsmutter / Locking nut128
 Temperaturhandtag / Temperature handle129
 Basring termostat / Base ring thermostat130

98973Termostat / Thermostat131
 Bas för fastsättningsskruv / Base for fastening screws132
 Blandarhus termostat / Mixer body thermostat133
 Insexskruv M6x8 / Inox screw M6x8134
 O-ring 14x2235
 Duschslangsinfästning G½ (R15) / Shower connection piece G½ (R15)236
 Nippel G½" (R15) / Nipple G½" (R15)137
 Anslutningsslang G½" (R15) L:600 / Connection hose G½" (R15) L:600238
 Backventil Ø14 / Non return valve Ø14239
 Gummipackning med filter / Rubber packing with filter240

(2)

2011-04-19


